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Q1) (5 Marks)

Assume that R absorbs maximum power of 216 mW from the rest of the circuit, find

the constant A?
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the super mesh equation can be written as:

Q2) (10 Marks)

1) For the circuit shown below,
a. 4.2i; 4+ 4i, = 15
b. 5.1i,4 4i, =18 3N 180

; v 4 M-
©|5i/4+ 3i, = 33 ! ,
d. 5i; +4i,=3 s (,’-) 3A L2> 15V
e. 5i, —4i, = —33 “ &
Vv * AMV—
21 120

2) The super-node equation in the circuit $hown below can be written as:

<

veosaoy, Ry
(b)) —20V; + 2215+ v, = 400 § ’ —>—4
c) 2.2V; H6)5 + 8V, = —40 64 - 44
d) -20v, 121/2 +5V; = 25 200 500 1000
e) is not listed
Answer questions (3-5) for the circuit shipwn below

If you know that R absorbs maximum p " er from the rest of the circuit, then:

3) The value of R in Ohms is:

(a) 24

(c) 3.33

(e) None of these
4) The maximum po

(a) 6.67W 7TW
(e) Noneofthese |

(d S333w

5) If we repl

again to/Absorbs maximum power, the?

I\ione of these
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Q3) (5 Marks)

In the circuit shown below, o 1pag is connected between (crminals a a
nnee
slance of this load and the current that

nd b consumes
is flowing in it?
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